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(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any
errors/ mistakes in understanding the question will be yours only.
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Note :

This Question Paper consists of 43 questions.
All questions are compulsory. Write your answers in Answer-book.
Marks are given against each question.

Section-A consists of Question Nos. 1 to 16 are objective type Multiple-choice type
questions (MCQs) carrying 1 mark each. Select and write the most appropriate option

out of the four options given in each of these questions.

Section-B consists of Question Nos. 17 to 28 - Objective-type questions carrying 2 marks
(with 2 sub-parts of 1 mark each). Attempt these questions as per the instructions

given for each of the questions.

Section-C Question Nos. 29 to 37-Very short answer-type questions carrying 2 marks
each to be answered in the range of 30 to 50 words. Internal choices have been provided
in some of these questions. You have to attempt only one of the given choices in such

questions.

Section-D Question Nos. 38 to 41-Short answer-type questions carrying 3 marks each
to be answered in the range of 50 to 80 words. Internal choices have been provided in
some of these questions. You have to attempt only one of the given choices in such

questions.

Section-E Question Nos. 42 and 43-Long answer-type questions carrying 5 marks each
to be answered in the range of 80 to 120 words. Internal choices have been provided in
some of these questions. You have to attempt only one of the given choices in such

questions.
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Answer of all questions are to be given in the Answer-Book given to you.
qff TE1 o I IR o T8 IR-Yfaehl | & foad |
15 minutes time has been allotted to read this question paper. The question paper will be

distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the students will read the question

paper only and will not write any answer on the Answer-Book during this period.
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SECTION - A / @US - &
Q. No 1-16 are the objective type MCQ of 1 mark each :

U9 ST 1 ¥ 16 Tk oh ST Igachedl U9 g1 Ueh U9 1 3ieh T g

1.  Which one of the following is not produced due to under secretion of thyroxine ? 1
(A) Goitre (B) Cretinism
(C) Myxoedema (D) Rickets
TRITRA o 37ed Be0l o Rl ffefed # | < & sar (Fan) ?
(A) T T (B) ST (SHE)
(C) TafrEmm (D) Thewm
2. In the following flow chart A, B, C and D represents : 1
MALE FEMALE
Parents
Gametes
Offsprings | AA+ZZ | [AA+ZZ| | C | | D

MALE MALE FEMALE FEMALE

A) A-AA+ZW, B-A+W, C-AA+ZW, D-AA +ZW
B) A-AA+ZZ, B-A+W, C-AA +ZW, D-AA +ZW
) A-AA+ZW, B-A+Z, C-AA +ZW, D-AA +ZW
) A-AA+ZW, B-A+W, C-AA+ZW, D-AA+Z7Z
i feg Ty = § A, B, C 99 D 1 fefud o § 2

g 0

A) A-AA+ZW, B-A+W, C-AA+ZW, D-AA+ZW
) A-AA+ZZ, B-A+W, C-AA+ZW, D-AA+ZW
C) A-AA+ZW, B-A+Z, C-AA+ZW, D-AA+ZW
D) A-AA+ZW, B-A+W, C-AA+ZW, D-AA+ZZ

e e e
o~

e
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3.  Name the cells that are seen in the lymph nodes and attack bacteria : 1

(A) Lymphocytes (B) Monocytes
(©) Granulocytes (D) Erythrocytes
3 RISl 1 Teanfa S oo ad | uT St § qen Jmopsd (Siamed) woSshHe S ¢
(A) Y (B) T (WHEEZH)
(C) HiorRTY (D) ATeTe(eR HforeRnd (TR
4.  The bacteria that help in the fixation of atmospheric nitrogen : 1
(A) Rhizobium (B) Streptomyces
(C) Salmonella (D) Lactobacillus
RAVSHA AE2IeH o fEediehtor § Werereh Siary ¢ :
(A) et (B) EErEE
(C) @ (D) elalegierd
5.  Which one of the following represent the gametophyte of fern ? 1
(A) Indusium (B) Sorus
(C) Prothallus (D) Frond
frfafed § @ & = F=m % & e 82
(A) =T (SgiEem) (B) HRH
(C) Wi (D) oot
6. In the given food chain identify the trophic level of frog. 1
)
et b b = - Z;}Q e
Grass Insect  Frog
(A) First trophic level (B) Second trophic level
(C) Third trophic level (D) Tertiary trophic level

= TITE TE W @ | Heeh 1 UIau] TR i Ted hifert |

ot 2 i i -
RIS
(A) T WE0 TR (B) fadta dwor ww
(C) g dIwor &R (D) =Iqe dIoor &R

e
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7.  The biological community in an area or ecosystem is a complex network of interactions. 1
Interactions may be of various types. In commensalism type :

(A) One species gets benefitted and the other species is neither harmed nor benefitted.
(B)  One species is inhibited and the other is unaffected.

(C) One species is benefitted and the other is harmed and inhibited.

(D) Both the species are benefitted.

forelt & =1 Sifass U™ =1 Wi TRefih fonaneii 1 U Sfedt Setshy § 1 IREafian fshan fafi=
TR i T Wehell & | HEATSIl H :

(A) T TS I AT ST § SHaifeh o TS 1 7 A1 o e § 3R 7 & =ifH 2t 7
B) U Tifi Faferd 2t & qen qodt stwefad et 7

(
(C) Uk TSI BT T Tl & 9 GOt 1 =i e F1oer 2 2
(D)

D) 3 e i e B ¥
8.  The formation of proteins from RNA is known as : 1
(A) Translation (B) Transcription
(€) Transformation (D) Transduction
RNA & W& & fmfor 1 9560 e ©
(A)  ZHRH (B) STciEd (TiEfshmm)
(C) SIOmRATH (D) crEERM
9.  Identify “A” in the given diagram : 1

(A) Cerebellum (B) Cerebrum
(C) Medulla oblongata (D) Pons

o= ° iR “A” Rl Tg=IHT :

(C) Hen sAfsare (D) g

e
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10. The blood protein that provides factors for clotting is : 1

(A) Albumin (B)  Fibrinogen (C) Globulin (D) Thrombin
TR WA S T o Thed (U9 ) & et Shleh 9o 3l ©
(A) e (B) THIEforIS (C) Tegfer (D) gt
11. Identify the immunoglobulin found in highest concentration in our body : 1
(A) IgD (B) IgA (©) 1IsG (D) IgM
AN YRR ¥ Faifeh Figdl (A1) H 91¢ S a7t SRArASg e i qgalg :
(A) IgD (B) IgA Q) IgG (D) IgM
12.  Which one of the following adaptations is seen in plants to promote self-pollination ? 1

(A) Cleistogamy (B) Dichogamy (C) Unisexuality (D)  Self-sterility
el H TIETor G 3 3G M W STIEe URafad (SO S 2§ ?

(A) STTHIT IO (B)  TU=Tehet aRueedl (C)  TehedHTehal (D) ToseAdl
13. Corpus luteum produces : 1
(A) Oestrogen (B) Androgens (C) Progesterone (D) Prolactin
qiafie (Hrdq Tgfeam) ffHa &t € -
(A) TEISH (B) TG (C) SR (D) Sretfere
14. The biological community in an area or ecosystem is a complex network of interactions. 1

Interactions may be of various types. In mutualism type :

(A) One species gets benefitted and the other species is neither harmed nor benefitted.
(B)  One species is inhibited and the other is unaffected.

(C) One species is benefitted and the other is harmed and inhibited.

(D) Both the species are benefitted.

TRt & 1 Sifaess TueE =1 wikas aReaiie fRanedl &1 U Sifea Sieshd § 1 IRee fRand 31
TR Sl B TRl & | FRIThRT (Z=gaiers ) |

(A) e TS o1 o1 Brell € STelfen, O ol = A1 o Bl € 3R 7 & @i aielt 81
(B) U wiEie fadfera den gadt Titefier sTyenfaa aiet 21

(C) e TISMST o1 1Y Brel & T2 SHL 1 71 qen fve 2an €1

(D) ST T B e B S

15. Biotechnology helps in synthesizing enzymes from cloned genes. Your friend wants to 1
manufacture of beer and bread. Which enzyme would you recommend to him ?

(A) Lipases (B) Proteases (C©) Amylases (D) Glucoisomerases

Ste SRt skitre Sl 9 fopveres Hyervor § weree 1 3kt s | qe oS w1 Seared
TRl §, 39 fag g forg ween (fepvaer) @t STTHICH ] ?

(A) @IS (B) e (C) TR (D)
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16. Which one of the following is not the step in Recombinant DNA technology ? 1
(A) Selection of specific restriction enzymes.
(B) Cell culture with required gene in the cell is obtained.
(C) Use of restriction enzymes to obtain a restriction fragment.

(D) Amplification of DNA fragments by using Primers.
frefafad § @ 1 g7ai7e® DNA Fieifiet &1 = 761§ ?

(A) fafire gwE TSR & =91 |

(B) RITSTeRTaTl | wifd S o1 hIf¥IehT Hared T |

(C) TH MTHRME GUE U & o o IRgeR TSEH 1 ITFM |
(

)
D) WEHU % 3UAM g DNA WUl &1 Yo |
SECTION - B / @UE - &

Question No 17 - 28 objective type questions carry 2 marks each (with 2 sub -parts of 1 mark
each). Attempt these questions as per the instructions given for each of the questions.

Y HET 17 - 28 TIUE U9 & | Udeh U9 o 2 3(ah ¢ (Feh &1 Suues €, Udieh &l 1 37k §) |

eIk U9 U fqu e fEvi o SR 3Rt ST St |

17. Name the following : 2
(i) An example of fresh water animal of phylum Cnidaria -

(i) The organelle in Euglena that regulates osmoregulation -
fefefed & 9™ fafeg

() RIS AESRAT 1 FAAU ST H TR T A 5= 1 IS -
(i) Il H g A R STer SifvieRT -

18. Match the statement given in Column-I with the right option in Column-II : 2
Column-I Column-II
(i) Copper-T (a) Interfere with the ovulation process and prevent fertilization

)  Prevent sperms from meeting the ovulated egg
) Implantation is not possible
) Permanently prevent fertilization
-1 H & T gk o forg wae-11 # fou 7T el # 9 w1l (o) e sifew
-1 -1
(a) ISR H HTHM 3q hdl § a1 Fo= i Jehal §
() Hem (FRa) (b)) yewmgsti &1 fa sie & Wy fae = ot §
(
(

) 3T Herd 7 & I
d) = =l Tl w9 @ aifd (I fean) o fean s

e
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19. Study the flow chart and complete it by substituting A-D with suitable words. (Attempt any 2
two parts from A-D).

Sugar(6C)

v
| 2 X Pyruvate (3C) |

©

D]

Lactate
(Lactic acid)

9 QU 7T yarg = 1 31eHEd HIfSC d9T A-D Rl SHfad Weal g1 Gfawenfud s g it
(A-D # § &I & T FIfST)

T (6C)
|

2 X UTgEaE (3C)
\

i 57
(i a1
20. Fill in the spaces A and B in the sentences given below : 2
(a) Cell mediated immune response is mediated by A

(b) Humoral immune responses is mediated by __ B

frefafed sl § fu e e T A a1 B =0t gfd shifsia

(a) et mifeaa wfaReft o/fsar A W1 Wit 2t ¥

(b) TR wfowedl erqfshan B g wIfeAd Bt €

e
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21. Aquatic ecosystems are classified on the basis of salinity into two types-Fresh water and
Marine. The common flora and fauna found in fresh water bodies like rivers, lake include
phytoplanktons, water hyacinth, water lily and zooplankton, crab and fishes respectively.
Wet lands are between aquatic and terrestrial ecosystem. They show an edge effect and form
an ecotone.

(a) What is the study of fresh water ecosystem known as ?

(b) Define ecotone.

STt TRAS oh1 STehio] TTEURT o STTER W TR | foha T § - STeravsieia a9 §Hg1 aree
T Siell § A 98 ST STell 9ey Siadl 3 9y Wiesh, Al d91 STa-Hfe! (drefaet)
qon Wi § Sqwresh, hehe qo Auferdl senfe wite €1 Selit don el iy % mer o
e mifearfas o 21 €1 Sefta qen T wiRkfeafas oF & i #i 799 uikafed g g s
T T 9 B |

(a) STAAU-STeAA ARG o ST hl T had © 2

(b)  FHIcT St ARy fafEw |

22. Given below is the list of vitamins with their functions. Choose the incorrect pairs of vitamins
with reference to their function.

(a) Vitamin A : Maintenance of vision

(b)  Vitamin C : Formation of blood

(c) Vitamin D : Healthy bones and teeth

(d) Vitamin K : antioxidant : ageing vitamin

%o foeIfai sl F= T2 3T Tl o e = & TR 7| fHeIfiEl o 3k wehE o | et e
et I & g

(a) Toerts A : 3fe =i S aAE &

(b) faerfia C: wfer =1 o

(c) Torfa D sifeerdi (Bfgdl) don <idl =l oy dATC W

(d) foertsa K : Uhstiadie= : o faerfim

23. Photosynthesis occurs in green parts of the plants mostly the leaves which have chloroplasts.
The thylakoids of chloroplast contain pigments which absorb light of different wavelengths
and carry out the photochemical reactions. These pigments are packed into functional clusters
called photosystems-PS-I and PS-II.

(@) Name the pigments that constitute the photosystems.
(b)  What is the function of Photosystems ?

RISl WA Grel & T 9T g ufael § a1 g § o efaees (Friere) 9@ S )
FRATTH & oIEcRise H Uik B § Sl i aeed arelt Yehret feRtuli ol sTaenfid wed § de
TRTYT HYCTHUT ot ehTRT THIAh SAIfHATG ohd B 1 a8 avies foramenss Sl (T=81) ¥ dufed 2 §
= YRTRIGA-1 (PS-1) T YehmTda-11 (PS-11) hed € |

(a) T TUiehi < W fAfET S geRmIGs 99 © |

(b) VT hI T T § 2

e
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24. Match Column I with the functions given in Column II 2

Column I Column II
(i) Pneumatophores (a) Roots with chlorophyll and manufacture food
(i) Haustoria (b) Roots developing from nodes and provide anchorage

(c) Roots which grow vertically up in the air and help
in respiration

(d) Roots which penetrate the host plant and suck food
from host

T -1 H & T TrEAnet o T - 11 H few T geef & wry wgfea faam s
W -1 WY - 11
a) FARITRA o ST qUT Wl Heeru |
b) &Y (A7) I Td A S I SN TERT FH HI
) IS W HI R A H gfg Hdl € a1 YaEH H HeTF ¢ |
d) T 9IeY o YRR 1 9T T A el Sl & qei ekl
1 T oA ¥ |
25. Supply the technical term for the following : 2

() AR (FHAERR)

(ii) ORI (BIEET)

(a) Low temperature treatment which stimulates early flower formation in some
plants -

b The biological response in growth and flowering to the duration of light and dark
g P g g g
period received by a plant in a specific sequence -

e o fag aehHrent g fafe
(a) T URY H oAU GRA &g foRa S e 9 a9 STER . -
(b)  dre TR TS ATl YIS i Hrammary % yid fret W § gfig qen g i stfeRan -

26. Observe the diagrams given below and assign the correct name from the list supplied. 2
(Attempt any two parts from A-D)

(Rhizome, Tuber, Corm, Bulb)

= fou T =it <1 Yeror ifSTe qen <1 18 gl | 3T §El AW o e i S (A-D H 9 foedl
3 % W fafaw)

(Yehe, e, SFehe, Yedhehe)

e
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27.

28.

Read the following passage and fill in the blanks with appropriate words :
(Attempt any two parts A-D)
In 1984 Alec Jeffreys, invented a technique which could distinguish the DNA of a person

from that of another and called this technique as A . This technique is
now used for B of crime, for example identifying correctly the
C in murder or to solve D disputes.

frfafed afeee o1 Tgwt Rea Tl #t qfd Tqfea sl g/ it |
(A-D ¥ T [l & & W ferfam)
T 1984 H Telsh SIS A Ueh qehriteh forehfd ot fSreeht Hemrdl T Afad o DNA | S8R AT &

DNA ¥ U&= S Fehell o1, 39 Tehrileh ohl A I fe= T 3T e eheieh
3T o SAATTh B % fore e Bt §, 3SR F IR W, fRE gen
AT & C e foare & feafq # D 1 Tl
A < fere fopar i 21
Study the diagram given below carefully and answer the question that follow :
Al
(atmosghere)
Carbon dioxide Carbon dioxide
A 4
Animals Plants
Carbohydrates
(eating)

Identify the processes “A” and “B”.
1< QU 7T 3@ 1 eAYelen S1eeH ik Geifed STITHT e o1 I fafaw |

g
(SmgHS)

e \

(@)
@,
N
@)
o
N

%7$
«[>]

ERCIHEST]
(¥TMER)

ThH “A” AT “B” ! Y9 X faf@u|

e
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SECTION - C / @UE -7

29. Observe the given diagram and answer the questions that follow :

g: Leading

5 strand

Parental 3' \://

strand 5' \375‘.\3"575 ' Lagging
3| e

\ strand
5l

Okazaki fragment

(a) In which direction does the enzyme DNA polymerase catalyses DNA replication -
5to3' or3tob'?
(b)  Which enzymes joins the Okazaki fragments to form a complete DNA strand.

T fou T 2T T Y&I0T ek STATHT U9+ & S faf@ay |

3!

| — ST Sk
5 5
S 3! \://
5 .
(sﬁaggl 3 5\3u57*3| Afim =&

5' SAHTATR TS
(a) TSTEH DNA wiferstst DNA Wfashfaad & fau fa famn # sed €2 5' 4 3 st 3/ 95' 2

(b) ST TUE! H TF T § e Iof DNA T (dqail) o1 Fafo i o1 wfshoa (TomsH)
AT S ?

30. (a) Following is the representation of how a plasmid isolated from bacterium that causes
galls in several plants is used to produce transgenic plants.

Chromosomal
DNA
Chromosome \ i

T-DNA ‘

Transformed
plant cell

B

(i) Name the bacterium that causes galls in plants.
(i) Name the plasmid used to transmit the desired genes.
OR
(b) Given below is the picture of a normal mouse (A) and a transgenic mouse (B).

Why is there an increase in the size of mouse (B).

e
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(a) TreAfafed fom % weam & guin won @ fw el § fufesd (mer) s ot sftar) @ @t
Y Fd ek RS qredl o fafor # 39e1 ffa gepr ST fopan Siman 2

() el # fafeswnd (Mer) Se A STl deRifEn (Siary) &AW fate |
(i) ifesd SF sl THARd w3 9l wifsae 61 94 fafa
areran
(b) = feu e fesll § U WH=T S (A) G GRS <@ (B) S9IE T R

<eT (B) % 3R H gfg 1 91 RO & 2

31. How do methanogenic bacteria differ from halophilic bacteria ? 2

QYIS SIS §eiiithicteh SR ¥ foae g fia=1 (faerm) ®2

32. (a) Why is the process of fertilization in flowering plants said to be double fertilization ? 2
OR

(b)  What is the function of Endosperm in the flowering plants ? Write the names of any 2
types of endosperms.

(a) o U H U UohH Wl Qred U= SRl el Sl © 2
AAAT
(b) ot UTEHl H Yordre T Yk R T2 TR 1 YRR & o el & W fafaw

33. A group of food items is given in the table. Categorize them into energy providing foods and 2
body building foods.

| Cereals, legumes, meat, sugar, oil, fish, egg, jaggeryl
T P @ veref gt < T ¥ 3 Sl UM i aTel a9 SRR fmier A 9t st § afiged
SHifeT |

|Cereals, legumes, meat, sugar, oil, fish, egg, jaggeryl

e
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34.

35.

e
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Analyse the differences between striated muscles and unstriated muscles with reference to
their shape.

Ifga AP qen Rfgd URET & = 3 ATHRR & YR W fade Fifsu |

Identify A in the diagram given below and state its function :

Vagus nerve
1

7 Auriculo
ventricular
bundle

(of HIS)

= Toie e o O A 1 gg=nfu qen 39 TR ot fafaw |

(a) Name the two biochemical reactions for biosynthesis of amino acids in plants.
OR
(b) Name the two proteins found in root nodules and helps in nitrogen fixation.
(a) i oA oSl 35 St T w3 fore 3 S T sfafEne ¥ A ffan
3gar

(b) TSI =t Ufermrstt (reged) | U S arelt T < e % T fafer S e feerieo |
RRER



37. Identify the type of neuron given in the diagram and state the function of axon : 2

Nucleus Dendron
Dendrites
Perikaryon ' Nissl |
Asort issl granules

Medullary sheath
Node of Ranvier

SECTION -D / @Us - ¥
38. Name the protein present in the following : 3
(a) Nails and Hair
(b) Connective tissue

() Muscles
Freferied o sufedfa (A€ ST dreft) $eM 1 AW fofe

(a) A qAl A
(b) EASH Sk
(c) UefF ask

e
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39. (I) Observe the Lac operon diagram given below and answer the questions that follows. 3

|p| i |p|0 | Z | y | a | In presence of inducer
Transcription
Repressor mRNA lac mRNA
Translation

B-galactosidase Permease transacetylase

Inducer,
7 >

(Inactive repressor)

(a) Which substance acts as inducer in this operon ?
(b) Where does RNA polymerase bind to initiate transcription ?
() What are the genes z, y, a called as ?
OR
(I) Study the karyotype given below and answer the questions that follow :

1 2 3 1 5 6 7 8
o 10 1

1 12 13 14 15 16

\(/A\\\
IRIBIRIET u\"j/
22

17 18 19 20 21 X5V

(a) What is this disorder known as ?
(b) How many chromosomes are present in the individuals with this disorder ?

(c) State one typical feature of this syndrome.
() = fu TT <ter- iR o 3@ 1 9&701 FifSe qe1 o T eifea 9o & S fafe
p| i [p]o] z JyJa] .ﬁwaﬁw@lﬁrﬁ

ZHE mRNA &% mRNA .
%) ! )
ERIRECIRIECE B BAC RS ES
Eied /”
O,
(a) T9 SRE H HH A1 I Ik A1 Fd HIAT 7 ?
(b) TEFEH YR A F folg RNA Tiferdist sel STeie iar € 2

(c) S z, v, a I HBAW & ?
AT

e
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40. ()

(1)

(I)

41.

Q
~

AN SN N N SN
=2 eI~
~— ~— — —~

@)
~

T AT & HIAREY Hl &0 191 €9 § e 71 81 SHHT AT Hlch FaAfed T91 o

I fafEm .

WA
IRIRININININ] u

13 14 1s 16

ivl u i1 u("l/

el

(a) wﬁw@wwﬁ%

(b) =W fosrgea =afad § swHEM ot Fo G fha § 2

(c) 39 faR &1 & T fafire @ fafaw |

[llustrate the 3 major phases in glycolysis.
OR

Distinguish between C; and C, plants with reference to the following characteristics.

Features Cs Plants

C4 Plants

(a) Carbon di-oxide acceptor

(b) Carbon di-oxide fixing enzymes

(c) First product of photosynthesis

TATSRITATH Tl 3-TH@ T3 1 A hifrg |

AT

frafafea sifiearmt & R W™ C, 991 C, Wil & wey fadg s

At C; uig

C, T8

(@) CO, 7w

(b) CO, ferwto T=Ew

(c) SRTIEIATOT ST Yo IcT1S

Define obesity.
List any two causes of obesity.
State two Harmful effects of obesity.

Ty (Fferar) ki gftmn fafew |
TYeAAT (HIETY) & <hig &1 s fafg
T HIE < BhRE J9d fAf@ |
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42.

43.

SECTION -E / @US - &

Explain C, cycle with a schematic diagram.
OR
Explain the role of the following parts :
i)  Retina
ii) Aqueous chamber
iii) Lens
iv) Pinna
v) Auditory nerves
ST ST i el § C, =Ish sl SAEAT il |
SDE])

frefafeaa St (9r) i i &t e S
(@) e
(i) A e (T ArR)
(iii) o9
(
(

(=

.

o~~~ o~~~

v

iv) wofgead (o)

v) 90 df5eht

A snapdragon plant with red flowers (RR) is crossed with a plant with white flowers
(rr). Work out the cross upto F, generation. Find out the phenotypic and genotypic
ratio.

OR

A tall pea plant with red flowers (TTRR) is crossed with white dwarf plants (ttrr).
Work out the phenotypic ratio in F, for this cross.

A I (RR) 3Tl WIS < 919 1 T3 T (rr) AT U9 6 G121 619 HUA1 91| 366 F,
Gt Toh ShiT o1 3 S & (SHFIREI) STIU a9 @&T0 T&Ul (HHeRius) Td[ I
HifsT |

AT

T % Al AT ATl T84 (TTRR) 3T Grel 1 A a1 Fhe 6T (ttrr) 96T Gre o A1e Heho!
AT | F, Wt H 36 T8I0 Tt ST e

-00o0-
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